Verb Ending-0t/01/0{ (Informal)

Class Objective- TO HELP TO UNDERSTAND THE USE OF INFORMAL VERB
ENDINGS.

CONCEPT A: VERB ENDING 0i(R).

e If the last syllable of the stem contains any vowel other than 2, Of, and is not a
otCt verb then it becomes an 1. Note that verb stems with O turn into a 04 (see
next section), it is due to a contraction of 0| + O = (4.

e If the last syllable of the stem contains the vowel 0| and there's no & &, i.e.

Al ZICH, then it becomes a ( (AlZH). The (A is a result of the contraction between
Ol + 4. The contracted form is almost always used in spoken and written
Korean.

e Verbs that end in in the vowel H don't get anything conjugated to it, i.e. LH Ct —

.
Verb Stem After Present Tense
Conjugation
S Ct (to eat) 9 = Of Ho(R)
AICt (to put on &l ALY AN(R)
shoes/socks)
ML} (to write) M MO M(R)
2 Ct (to cry) 2 =0 S20H(R)
21 Ct (to read) S &1 Of H0(R)
TH Ol ULt (to be X Ol K OIA O MOIAN(2)

fun, interesting) U


https://www.koreanwikiproject.com/wiki/%EB%B0%9B%EC%B9%A8
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